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CHEM STRY MARKING SCHE ME
OuUTSI DE DELH -2013

SET-56/1
Q1 | Answers Mar ks
1 | Chenmsorption 1
2 | BHectrdtic Refining 1
3 | Phosgene gas (COQy,), Cholorpicrin  (or tear gas) (Cd;NG), Mistard gas|¥%t+%
(GACHCHSCHCHA) (any two names or for mul ae)
4 | 3-Chloro-2 2-di nethyl butane / 2- Chl oro- 3 3-dimet hyl butane 1
5 |[CKCHCH < CHCHO < CH CH OH 1
6. | CH;CH,—N—CH; 1
H
7. | Qucose &Fructose 1
8 | Honopol yner 1

9. | (i) In Schottky defect some ions are mssing (or due to vacancies) fromtheir nor nal lattice sites | 1

due to which density decreases.

(if) Thisis duetoavailability of unpaired or odd el ectron provided by P 1
10 | For f.ccunitcdl r= a 2
2\2
a=2rx\2
=2x 125 pmx 1 414 s
=353.5pm 1
11 | oG =-nFP cdl Yy
=-2x96500 Cnol'*x11V Y
= -212300J nol™! o -2123kJ molt 1
1
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12 (a) order =2 + %.=52 Ya
(b t=0693 Ya
k
=0693s
55x 10
1
=126 x 10" s

13 | (a) FFath Hoatation Mt hod

(b Wought ironis the pure for mof iron & Steel is an alloy of iron or any other suitable | 1+1

difference.
14 | (a)
@‘.
e @
&
C Ve

EH
o
@ N

1+1

15 | The interhal ogen compounds can be prepared by the direct comnbination or by the action of | 1
hal ogen on lower irterhal ogen conmpounds.

General conposition XXn (where n=1,357 &Xis nore electronegative) 1

16

Yo

H
| Slow | |
) 2> H-C-C'+ H,0 7

H

ﬁ
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H H
I~ H H
H-CL CF =— c=c/ +H
K H H
Ethene 1
17 | (a) Rei ner-Tiemann reaction
OH O Na* O Na* OH
"HC CHO CHO
@ CHCl, + aq NaOI—I} @,CHCIQ NaOH @/ H @/
Salicylaldehyde
Intermediate
(b Wllianson synt hesis
1+1

R-X + R-Q N\a—— R-O-R’ + Na X

18 | Ther mopl astics. These pol yrers are easily softened on heating, noul ded and then hardened on | %2+ %

coaling

Exanpl es: polythene, pol ypropylene, pol ystyrene, polyvinyl chloride teflon polyvinyl acetate,
etc. (any one)

Ther nosetting polynmers These pol ymers on heating becore infusible and for man insoluble | ¥2+%
hard nass thus, cannat be re noul ded

Exanples: Bakelite urea-for nal del yde resins, etc. (any one)

OR
18 | The pdyners which can be degraded by the micro arganism 1
Exanple: PHBV (or any aher correct one exanple) 1

19 | dvenifrae a 293KisRthus a 313Krate becomes 4R

E T,— T,
logle = —f [T L
2-303R [T, =T,
ki
4R E 313- 293
Log — = 2 [ ]
B 2:308 x 2314 [293 x 313
3
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Log 4 = Eg [ 20 ] 1
15-1471 [31709

0-6021= == [ 2]

151471 |51709

0e021 2151471 = 91705
0

=k

Ea =52863-2177) or 52 863 KJ 1

20 | (a) Multi nolecu ar colloi ds are the aggregate of large nunber of atons or smaller nolecul es
hel d toget her by van der waal forces Ya
Exanple: Any netal sd, suphur sd. (any one) Ya
(b) Lyophobicsd: In whichthereis no affinity bet ween disperse phase & disperssion medium
(or sdvent hating) Ya
Exanple: Any netal sd, 4,S sd, Fe(OH 3 sd. (any one) Ya
(©) Emulsion: A colliodal systemin which disperesed phase & dispersion nmedium both are
liqui ds Y

Exanple: MiIk Codliver al, Hir cream vainishing cream butter, cd d cream(any one) Yo

21 | (i) Because ‘N can’t extend its covalency beyond 4 whereas ‘P can, duetothe presence of d-
orhbital.

(i) Because  Pb’ isin +4 oxidation state in Pbd 4 and has high charge/ size ratio than Pb?* 1x3=3
(iii) Due to very hi gh bond dissoci ation ernt hal py of NEN

22 | (i) tetrachl oridoni ckel ate(ll) ion
(ii) sp’
(iii) Tetrahedral.

OR 1x3=3
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22
The energy invol ved in splitting the degenerate d-orbitalsinotwo sets ty; and ey is called crystal
fiel d splitting energy. 1
(i) toge
(i) tyoey 1+1

23 | (i) 1, is better leaving group/ G| bondis weeker then G B bond.

(i) Becauseitisaracemc mxure/ equal &oppositeratation of t wo enantioners cancel each
ot her.

(i) Due toresonance in halobenzene / sp” hybridization of C- atomin hal obenzene &sp® | 1x3=3

hybrid zation of C- aomin CH X

24 1 (i) CHCHNH +CHA; +dc 3KOH -— >CHCH NC +3Kd +3HO

H,0: Room Temperature

(i) GHN"Q » GHOH + N + HA
(iii)
NH, NH,Cl 1x3=3
@ +HCl(aq) —— @
25 | (i) Atacid/ Attihistamne
(i1) Syt hetic detergents
1x3=3

(iiii) 0-2%Phend

Downloaded From: http://www.cbseportal.com



Downloaded From: http://www.cbseportal.com

26

d ven cell notationisincorrect

Correct cell formulais

QU (10° M |Cus | | Ag" (10°M | Agy
G ven Bcel =0-46V

_ 00591 [CuZ?*]
Ecell - E)cell n [Agt]? 1
B _ 00591 [0.1] 1
Ecen =0-46 - — |09'[m_3]z
E.n =0-46 -0-02955 Iog%

B =0-46 -0-02955 log 10°
Een =0-46 - 0-02955 x 5

Een =0-46 - 0-146

B =0-314V 1
o
Ece“ :E)CGH 'mlog [&jf 1
2 [ Cu?™]
=046V - 0.05910g[10°]?
2 (0.1
1
=046V - 0.059log[10%>
2 [0
=046V +00295 x5
=0 6075V :
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27 | () Ms. Anuradha has shown generosity/ caring/ hel ping/ kindness atitude towards poor
(i) \Mt. Bo.

(iii) \itanin B/ C 1x3=3

28 | (@) Partia vapour pressure of aliquidconponert is directly proportional toits nole fractioninits | 1
sal uion

The partial pressure of the volatile conponent or gasis directly proportional toits nolefractionin
sduion Onlythe proportionality constant Ky differs fromP° 5 Thus, Raoult’slawbecones a | 1
special case of Fenry’s lawin which Ky becones equal to P4

(b) Gven W =1-00g; W, =50g; K =5-12K kg mol™%; 2T =0-40K

AT = K W, X1000 1
Mg X W, (in grams)

Wg X 1000

Mg = K¢ AT;X W, 1

3 12x1x1000
040 x50

ME=

=256g nol*
o]

28 | (a) (i) Idea Solution: Those solwions which fdlows Raoult’s law under all conditions of
tenperat ure and pressure.

(i1) Azeotrope: Aliquid mxture which distills at constart tenmperature without under goi ng any
change in conpositionis called Azeatrope.

(iii) G notic Pressure: The mni numexcess pressurethat hasto be applied onthe sal ution side
to prevent the entry of the sol vert irntothe sol ionthroughthe sem - per neable nenbraneis | ; - 4
called os notic pressure.

(b) Gven Mlecular mass of QGucose =180, %by w =10

1000 x wt @ _wx1000
= o =
{lﬂﬂ - wi %} ¥ mol wt of solute MxW

Yo+ Yo
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— 1000x10
" (100-10)x 180
_ 10000
T 90x180
m=0-617m 1
29 | (a) (i) M (3d") good electron acceptor as resuting species is nore stable (3d° )
(i) The E°( M*/ M val ues are not regular which can be explained fromt heirregul ar variation of
ionisation enthalpies ( AH; +AiH), subli nation enthal pies and hydration ent hal pi es.
(iii) Dueto mitipe bond for mation ability of oxygen wth Miin My G. 1x3=3
(b) () 20 Q% +2H -— G2G% +HO
Heat 1+1
(i) 2KM Q kMO, + MG + Q.
OR
29 (a) Because of inconplete filling of d-orbitals
(i) M
1x3=3
(i) Scandi um(Sc)
(b) There is a steady decrease inthe size of atons/ions wthincrease in atomic numnber in
lant hanoi d 141
Nisch netal
30 | (3
D LiAlg v
- re or
(i) CH;—C—CH; ;‘%NaBm CH,CHCH;,
8
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0 H
.. ! - |
(ii) CHs+-C-H+ HCN——> CH 3—é| —on—OM .y Cc_om
|
CN COOH
CH, (FOOH
..~ Alk. KMnO, S
(111) @ P
(b) (i) Add I, & NaOHin boththe sd wions pentan-2-one gives yellowcol ured precipitate, but | ;5 4
pentan- 3- one does na.
(i1) Add 1, & NaOHinboththe sol uions ethanal gives yellowcol ured precipitate, but propanal
does na. (or any ather correct sutable test)
OR
1+1
30 | @
9 Zn—-H
. n—Hg
CH;—C-CH CH;—CH,-CH; + H,0O
() CHs * cone. HCI ’ ’ ’ :
'Trl) Pd-BaSO I
(ii) CH,~C—Cl + H, —2a . CH,-C-H+HCI
COOH COOH
@ BT2 J.'f FEBrg @ . HB
(1i1) By T
(b) (i) ~ CH- COOH
- 1x3=3
(i) CH COOH
Sh. S.K.Munjal Dr (Mrs.) Sangeeta
1+1
Bhatia
Prof. R.D.Shukla Mr. K.M. Abdul Raheem
Dr. K.N.Uppadhya Mr.D. A Mishra
Mr. Rakesh Dhawan Mr.Deshbir Singh
Ms. Neeru Sofat Mr. Akhileshwar Mishra
Mr. Virendra Singh
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